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4. 40% of 162(14-343%«]" )
(A) 12
© 16
5. Which of the follo
1 > given ity
3:&3+6-ﬂ:-—4=.ij§_. N e Q-
W xmds @ ead-
© +and+ (D) -ands ;. |
'B'Shndsfatlﬁﬁm ‘ﬁ’m lﬁi@-
wo«lﬂmmbcrm:mlnnmber T
L  alternatives. R
“ | 4@ 3 ® 3
, i 5. (A) Marine
(A) I5C3B2A6E2 -rr“ ) Navigation
(B) I5B2G5A4G4 ' ) ZYX
©) 15C3B2D6B1 |  © ~nmL
D) 15B3D4E6 = |1y xzy
7% Idennfytbesraﬂm}stebnmwmm .~ (©) PRQ
UA4A SA4 |y 565
(A) x+x = (B) =x+ 19. (A) 46-10
© x+= I | (%’i 20-38
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' Directions : In question nos.

‘number from the given responses.

given words a meaningful an
select the option indicating the
20. 1. Venus 2. Eath 3.
" 4, Mercury 5. Jupiter
(A) 4,2,1,35 (B)
(€) 4, 12,35 @)
21. 1. Pages 2. Book rack
4. Books 5. Calzhglle
#) 2.5.4.31 (B
'(C) 1,4,2,5,3 )

(A) cbcaa
(C) abcba
23. A series. is given,
hoo &qw

{M QRV U
(C) QRVW
Directions: In question.

24. 0, 6, 24, 60, 7, 210

*) 17 (B) |
(C) 120 )
25, 49 81
4 49
e 11
we ®4 © a"':@m
26. 2 14 21
: 3 21 28 35
At IR
(&) Band49  (B) Band42

© 2 -mdﬂ (D) 49 and 28
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2 3 4
24 39 ?
20 30 40
(A) 44 (B) 49 (C) 50 (D) 56
7 3 2
g 4 9 6
2 1 5
2. 39 65 7
5. (A) 91 68 (C) 56 :
(A) 2,54, 3,1 (B) 1,5.4,3,2 ‘ (A? ! (B) &t . i
© 1,4253 (D 1,2.453 29, x 15 ¥ieX I H T & &9 A g3 20 AN
22. e T FA-HT W WA AT T FIAR @ T &, I A R =T R 10 et Ferr
F &Y 7 ST e A g R 7 » ® | 38 = R § A Eaw 20 Hied womr ¥
ab _babc_ab _b _beb _b 7% woT oA fefe & e e 2 7
(_A)c'bcaa (B) cabac (A) 5. (B) 10 =¥,
© abcba (D) acaca ©) 15 D) 20 F
23, v s o &, Forw v o2 qw 8 1 R Sy o
foret ¥ & a7 wer forew 9 | 30. =St 7-30 7 foar @ € | afs fame & qf ofesw
ABEF, IIMN, ? feam =t fomm 2 2, o o2 Y qf o R ey
(A) QRVU (B) QRUV Tt 7
. (© QRVW D) QSVU iy e ® sy
i o dem U A28 o § R i |0 0 > )
qE W s i | - © swAwm (D) T o
24. 0, 6, 24, 60, ?, 210 i Fordar o w31 & 33 #, Freforfes frawd § &
@ n7 ® u 7T W= A 3 fag g e F qed wowd ay
(€ 120 ©) 153 Y =TT S A
25 “z 2; 6_’;_, 31. PENULTIMATE :
35 i5 % (A) PEANUT  (B) MINUTE
e : 5, (C) ELIMINATE (D) LIME-TEA
(A) 6 (B) 4 (O 9 (D) 16 32. PROCRASTINATE
; (A) PATTERN (B) TRACTOR
co § f,_‘; ;; g: (C) PRINTED (D) PAINTER
4 9 35 9 33. ADOLESCENT
(A) 35 UF 49 (B) 28 UF 42 (A) ENCLOSE (B) DONATE
(C) 21 TF 42 (D) 49 = 28 (C) SECRET (D) LEAST
o = F faw '
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M 51)0}‘3 A B, C, B,-

facing West. D is

- right of C but left of F.
Who is at the right end ?

A C ®F (© D

38, Statements : L Ravi has
I Nommmeclasshns
five pens.
Conclusions :
1L All students in the clm have pens.
IL. All students in the class bavc five pens

B 35. Y is in the East of X w o Sach.
: If Pis in the South of Z. Il Some of the students have more than five.
| of YisP? peni.
(A) North (B) v, r\‘.’.‘mly one student in the clui has exactly
s f (ol e ' ive pens.
i. | $©). SouthFast : ‘ (A) Only conclusion I follows.
' B6: TKie wilks 4 ¥o Srmhnd ' (B) Only conclusion 111 foﬂo@
towards her left anid walks (C) Only conclusion I1 folloy

{ (D) Only conclusion IV folwwﬁ'

| 39. Three positions of z dice are given. Find out

which number is found opposite the number 2
in the given cube.

she tums left again and wa
Here, she meets her friend c
| opposite direction and they st
| Which direction would she be facing

! (A) North ®B) South
(C) East

| erttm&. In question m ﬁi m# tw; 'm qoﬂ | %

I;mmmdmvouhm.iomﬁm&ﬂieﬁb' WeE ®»s ©3 !@1
statements to be true even if they seem fo be at ; )
variance from commonly known facts: You have to | 40. In the following figure O represents hard-

decide which of the given comlusiom, if any, fegaw ‘working, A represents sincere and [J represents
from the given statements. 1B intelligent. Find out the hardworking who are
37. s : . L Someb i 1 Sre 1 i ‘ intelligent but not sincere. ‘

Conclusions : L. Some cloﬁ!gg‘:m birds.~
Il Horse is not a cloud.

(A) Conclusion I follows.

I (B) Conclusion II follows.

(C) Either conclusion I or II follows.

(D) Neither conclusion | nor 11 follows. @1 ®2 ©3 M4
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M-

s ' EI 43. Identify the answer figures from which the
B piece given in guestion figure have been cut.
:| Question figure
III & P
i 050
. Answer figures
| [ |
| ( |
| . : . (B) © (D)
!  Directions : In question nos. 44 and 45, which
| answer figure will complete the pmem in the
/ : : ) 78 1 l”@ttmn figure 7
ﬂ i g | 44. Question figure
L --.‘, L ] > s
| 42, A | g .|:- Fl ; \‘:k ! } ‘| @) .
J . > / 3. X | Ry - ( = .
' o8 Answer fi
I n . - A
I qu-, ol X ,J ﬁ i \’\S\'m %I
| MENE @w. ® © o
T "-‘l R
. h‘ 45, Question figure
hmmnﬁmﬁéﬁhﬂfim&"%
- employed, the square stands mmm‘ [ "{{.)
the triangle stands for mlw \LF
rectangle stands for truthful. Smﬁﬂhﬁsum
and answer the questions which region ‘mw!ﬁm
represents literate, employed people who are = [ e
neither truthful nor social worker. ln@ '|L® m | @
‘ e ‘ — T !
' A1 ®4 ©9 O 10 @w  ® © @)
) SPACE FOR ROUGH WORK
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.l 49, How many triangles are there in the given
i figure ?

| A7 ® 10 ©8 ®YI

H. &Awoﬁmmmwdbymﬂymmaf
i numbers as given in any one of the alternatives.
N The of numbers given in the alternatives

are represented by two classes of alphabets as
in two matrices given below. The columns and
rows of Matrix I are numbered from 0 to 4 and
that of Matrix 11 are numbered from 5 to’9.
A letter from these matrices can be represented
ﬁmbymmwand :Eymcolumn.cg.‘A’

T
el
H
|
| (A) 56,00, 77, 88, 86, 9
S 1B B | | o e 5077 08 90
I s | | B 0 | | R : (C) 65,30, 77, 98, 90, 99
@®w ® © @ ©® | (D 6640767859
AR mmmamauwm
H
l'
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PPED CANDIDATES ONLY

Directions : 1 ' 46. 8, 24, 48, 80, 7
d/numl - C O (A) 160 (B) 152
© 128 (D) 120
47. 6:8:7:11:8:2
(A) 10 (B) 13 (© 16 (D) 6
48. From the given alternative words, select the
word which cannot be formed using the letters

40. BBF

of the given word :
) CEG- ‘EXAMINATION’
©) TVX (A) EXAMINE (B) NATION
41, 12: 39 = 15 (C) EXAM (D) MINE

(A) 45 éﬂmgc the following words as per order in the
' i S‘I‘A'I‘ION 2. STABLE
3. STATIC 4. STAND
5. STANDARD

42. (A) AEBF L (A) 23,541  (B) 2,4.3,51

(©) JLIK © 2.4,531 (D) 42351
43. (A) 121 50. Two statements I and 1 are given followed by
(C) 153 ‘two conclusions I and I1. You have to consider
the two statements to be true even if they seem

%Whlchonenfﬁwgl

Jngfil. vidié of e to"be at variance from commonly known facts.

You have to decide which of the given

ascending order ? aX conclusions, if any, follow from the given,

1. Production L statements,

3 E’Iannmg m WM Statements : I All E.C.G. machines are

computerised.
posls II. Computerised machines are

(M 51,24 (BT 6,3,1,2,4,5 generally accurate.

(©) 3.6,2,1,5,4 @)3ﬁg452.1.s Conclusions : L All E.C.G. machines are
Directions : In question nos. 45 to 47, find the . MRS
‘missing latwrfnuﬂnbar of the series from the given . I Some of the ECG.
: Ao e (A) The conclusion I is right.

45. EDCBA, JIHGF, ONMLK, 7 (B) The conclusion II is right.

(A) UVWXY (B) BGLQV (C) Both conclusions are right

(C) TSRQP (D) DINSX : (D) Both conclusions are wrong.

SPACE FOR ROUGH WORK
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i ] AL AWARENESS
: | 51. Ice glacier’s melmgg is .1 63. Pancg?yanam System was implemented first in the
linked to the ri Seaw; . pair of states )
' predommanﬂ!;s;mgan 1 ,w : (A) Andhra Pradesh and Rajasthan
i- (A) Greenland (B)  Assam and Bihar

ST (C) Arunachal Pradesh and Utiar Pradesh
(C) Himalayas (D) Punjab and Chandigarh

| 52. Who is known for e 64, &ujmasn EnﬁrtlxmemConfcreme 1972 washeldat  /
A) Iubilant Buddha tockholm
e ienpiveuge (©) Geneva (D) Australia
1 b e 65. "Gold’ is mainly related to

53. The civilian Airport of (A) Local market (B) National market
(A) Tibet (C) International market (D) Regional market
(C) India ) 66. ?Bﬂ)amml mo;]mpoly ret;urs to the market situation of

54. Genomic (DNA) studies in two sellers, two buyers

) el [ S ) one seller and two buyers

completed recenﬂy by the s -] gD) two sellers and one hgyer
(A) Sogt.h Africa (B) » ) one seller and one buyer
(€C) China (D) ] 67. The economist who believed that unemployment is

impossible and that market mechamsm has a built
in regulatory system to meet any ups and downs
(A) I.M. Keynes (B) Ohlin

55. International Simon Bolivar Prize
awarded to Aung San Suu Kyi by the g

(A) Miawilivk € S (C) 1.B.Say (D) Galbraith
(C) Venezuela ) 1 68. ‘gunstmwnt Asscmblé{ of India was formulated on
56. BCCI conferred “Col. C. K. Naydu Lifetime recommendation o
| Cemne % A) Wavel Plan (B ipps Mission
Achievement Award” during 2012 to 50) AugostOfter (D) m&mﬂm

(A) Sachin Tendulkar (B) M. S. Dhoni

(C) VVSLaxman @ Sunil Gavask 69. :;’emmgf the following is an essential element of

57. Air quality depicting PM 25 ismmmmza f ('A; Sovereignty (B) Government
' (A) Archaeological Monuments. (€) Teritory (D) Allthese
(B) National Parks ' ' 70. Which has become a legal right under 44th
(€} Hotaricsl Gusois G (A) Ri fl'tﬁto Education
(D) Old Men and Women R (B) Right 1o Pro
58. Which of the following is not a fundamental right (C) Right to Judicial Remedies
2 per the Indian Conistitution ? i g’) 'Il“i"mw"tﬁ‘ . A
\ ' y which Constitution Amendment Act, Right to
Eg)) ;:g:z&dﬁmﬁztn z;eperty ceased to remain E ﬁmﬁ;’udemai nghgt"
(C) Right to Speech : s ~ {©) 43d %D} 45th
(D) Right to Life : 72, ggg said “Truth is the ultimate reality and it is
59. Who is custodian of the Indian Constitution ? A Sy ek
i (A) President of India gﬁg Rabmgra Nath Tagore
(B) Chief Justice of India (C) M. K. Gandhi
(C) Prime Minister of India (D) Radhakrishnan
: (D) Chairman of Rajya Sabha 73. Which of the following mi:'v’es is associated with the
60. Piped Natural Gas (PNG) is used for i AN
i g (A) Mining (B) Welding (C) Santhal (D) Konda dora
| (C) Anaesthesia (D) Cooking 74. ygi)mfémndedlheNawawan Bharat Sabha ?
61. Greenpark Stadium is in (B) G.Subramania Iyer
(A) Bengaluru ~ (B) Dehradun (C) Sardar Bagat Singh
(C) Chandigarh (D) Kanpur (D) Rukmani Lakshmipath
62. Rowlatt Act 1919 was enacted during the period of | 7> ng,m;gg;gg";’g‘yw CESARRSS Gb Auas e
(A) Lord Chelmsford (B) Lord William (A) Lord Curzon (B) Lord Wellesley
(C) Lord Minto (D) Lord Bentinck (C) Duke of Cannaught (D) Duke of Wellingdon

I H- AB 2013 ; 14
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i o in
' 76. Buddha, Dhamma and the: n | 90, Solids which conduct electricity af higher tempera-
as ‘ ture but nof at lower temperature are called
(A) Triratna B) (A) super-conductor (B) metallic-conductor
(C) Trisarga (] 3 (C) semi-conductor (D) insulator
77. Who was called 91. Which one of the following has greatest mass ?

(A) Chandragupta k ' (A) electron (B) proton

: _(CJ_ Kummgupm _ 2 . (C) neutron (D) hydmgdnnucleus

i i th e - 92. A television channel is characterised by

*Pachmarhi ' (A) frequency of transmitted signal
| Eg; ﬁm@ﬂ : | (B) velocity of transmitted signal

79, Which 3 PR (C) physical d:mmunoftelehsmscm

; (D) size of picture tube
u g’)’k%“: g . 93. The first computer mouse was built by
‘ ‘ (C) NH 10 1 (A) Douglas Engelbart (B) William English
80. The country where & I (C) Oaniel Coogher (D) Robert Zawacki
efficiently used is . l 94. An organizati "spmﬁmhﬁnydepcndsm
(A) India (A Qu data processed
(C) SriLanka ' |
’ 1. Which of the following !

¥ © Gmméaw

95, mdmﬁyorwmm‘ﬁmmwmm valid
82. Of the following min-
il socially induced ?

hs, - - Tt v ||
; v - (A) o
1l (A) Debris Avalanche L © 25C g %ﬁ

"] ?é; Sauwwmm a e 96. The process of phmosynrhesg;involmgonvugi_un
‘ Asson o “la of
| AR e deplext (A) chenucale’nergymtdtaﬁmm’energy
.lgl n;iwmehmofn:ksommgmmu @) chemical il o
I (A) Pa:;r'::s (B) Thyroid (C) solar energy into chemical energy
(C) Pituitary (D) Adrenals | (D) mechanical energy into solar energy _
84. Thsscalofmlelhgmcanm&ﬁe 9. A‘}’ﬂﬂ_‘!"‘.’?fﬁﬁmiﬂ-“'hlﬂhﬂlqﬂiﬂ is dispersed in
(A) cerebrum ‘ *aliquid is called oo
(C) medutla D (A) gel ®) emulsm
85. What is the Normal Blood Volume in buman adult ? () sol (D) precipitate:
(A) Onelive (B) Three litres 98, The antiseptic compound present in dettol is
(C) Fivelitres (D) Seven litres ~ (A) Iodine (B) En:mxyieml
86. The fasting blood glucose level in aﬂuﬁs in (C) Biothional (D) Cresol
b ket 99. As per the TRIPS Agreemen 1904, 2 good
e (B) lﬂ} p“ng from a region with specific character/
G-l isthe éD) 5 w“lmmmmmwmhmwmdw
Emww study. PR as
(A) Birds (B) Insects A} Pueat
(©) I‘vssx!s - (D) Fungi (B) Trademark
88 Embmlogﬂsfueimmxtdulsmﬁ: (C) Trade secret. !
(A) sxhet G, (D) Gl (Geographical Indicator)
“’3 Eff‘:;:n Bt paice 100. Which of the following crop cultivation is banned
F ) life in marine habitat : by the Hon'"ble Supreme Court of India ? .
I PRI (A) Lathyrus (Khesari) '
e &ﬁmﬁﬂmﬁ‘ e (B) Genetcally moified brins |1
I (A) stratosphere {B) ozonosphere (C) Brceatton for export
i (€) ionosphere {D) troposphere j (D) Btcotton for local use 1
] -

| H - AB 2013 ey 16
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101. A

© i:is’ @ 34
105. If a?~4a— 1 =0, then value of

CTR: | 3
+3a—-= |
a ‘1‘;{ 2 is
(A) 25 (B) 30

106. 1f x=Ya+Va? +b° +Ya—a® +
x4+ 3bxis equal to oy

@O0 ®a (©2a O]
107. If 22 — 3% = 80 and x-yaﬂ,ﬁ:ml!'seaw

of x and y is

@W2 B3 ©4 DS

'ITATIVE APTITUDE

1 s
If = 5.“-—+b»if.-+" . b,
V—_-H-’J_ a ¢ and a, b, ¢
ammagnalnumbers then a + b + ¢ is equal to

(A; o ®m1I ©2 M3
) S oy
10 e l+-2"‘ Te2e? g
. (A) a-b " (B) b-a
S = ®) o
: 4 b_1s 18¢% ~74°
PR - e
equil ©©
wi ®3: ©3 oi

HLMWWE@M Pand Q intersect at
and ¢ B ﬁfﬁ«pﬂmﬂs on the circles with

112. € and C, are two concentric circles with
centres at 0. Their radii are 12 em. and 3 cm.
respectively. B and Carpthepoimsafcunm
of two tangents drawn to C, from a point A
lying on the circle C|. Then the area of the
quadrilateral ABOC is

(A) Tls sq. em.  (B) 12415 sq. cm.

(© 915 sq.em. (D) 615 sq. em.
113. I and O are respectively the in-centre and
_ circumcentre of a triangle ABC. The line Al
produced intersects the circumeircle of A ABC
at the point D. If ZABC =x°, ZBID =y° and

£BOD =z° then —— Lohi s
¥

w3 ®! ©2 4
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114. Rana drove 8 mﬁ
north, then 3 miles
miles due north.
and final position is
(A) 13 miles
(C) 19 miles

115. ABCD is a par.

116. In A ABC and A DEF, uMmk
Then one can infer mst Y
A ABC = A DEF, when 5
(A) £BAC=/ZEDF (B) ZACB=ZEDF
(C) ZLACB=£DFE (D) ZABC=/ZDEF

117. The length of d common chord of two circles

of radii 30 cm and 40 cm whose centres are
50 cm apart, is (in cm)
@12 B % (© 36 @ 48

118. Two chords AB, CD of a circle with centre O
intersect each other at P. ZADP =23° and
ZAPC =70°, then the ZBCD is
(A) 45° (B) 47°
) isTE (D) 67°

119. If the interior angles of a five-sided polygon are

in the ratio of 2:3:3:5: Sﬂwnﬂtemsure
of the smallest angle is

| 120. The difference of a number consisting of two

digits from the number formed by interchanging
the digits is always divisible by
(A) 10 @B 9 (© 1

121. The number 323 has
(A) three prime factors
(B) five prime factors
(C) two prime factors
(D) no prime factor

122. A tyre has 2 punctures. The first puncture alone
would have made the tyre flat in 9 minutes
and the second alone would have done it in
6 minutes. If air leaks out at a constant rate, how
long does it takeboth the punctures together to
‘make it flat ?

D) 6

(A) 14 minuwes  (B) 3% minutes
KN 3% minutes (D) 4-{— minutes

123. If 8 men or 12 boys can do a piece of work in
16 days, the number of days mgmred to
complete the work by 20 men and 6 boys is

(A) 5% - (B) 6%
© 8% ®) 7%

124. A and B together can do a piece of work in
12 days which B and C together can do in
16 days. After A has been workmg at it for
5 days and B for 7 days, C finishes it in 13 days.
In how many days B could finish the work ?
(A) 48 days (B) 24 days
(C) 16 days (D) 12 days
125. Three circles of radius a, b, ¢ touch each other
externally. The area of the triangle formed by
joining their centres is

) Jla+b+cabe
(B) (a+b+c)ab+bc+ca

(A) 20° (B) 30° (C) ab+bctca
(C) 60° (D) 90° (D) None of the above
SPACE FOR ROUGH WORK
H - AB 2013 20
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- 45 cm is melted ar
of radius 5 cm, find 1

(A) 81 (B) 41

127.

the circle in cm is
(A) V65
(©) 65

128. For every set of 19 hm
I kite extra, free of cost.

should give in a sale of 27 k
integer is w
R ¢ @6 @7 @S
129. A ruby stone was bought for Wn aipur.
A sum of T 2400 was spent ring

with ﬂlenlby stone. It was advertised for sale at
Bombay for T 7800. If a discount of 10% was

given, then the % profit made was
(A) 55%. (B) 68:5%
€) 755% (D} 80%

130. A shopkeeper buys an article for T 450.
marks it at 20% above the cost price. Find the

‘percentage discount giveh by him if .-m&c

article for ¥ 496-80.
(A) 8% (B) 9%

131. The area of a circle is Y
of its radius. A smal] wd
3 cm is drawn within a larger circle of radius

(C) 10% 03) 12%

5 cm. Find the ratio of the area of the annular

zone to the area of the Wﬂmkp_(mﬂ of the
annular zone is the difference between the area
of the larger circle and that of the smaller

circle), d 7
(A) 9:16 (B) 9:25
© l6:25 (D) 16:27

al 10 the square

132. A man invested 1 of his capital at 7%, § at 8%
and the remainder at 10%. If his annual income
is ¥ 561, the capital is .
(A) T 5400 (B) < 6000
(€C) T 6600 (D) < 7200

133. The average age of Ram and his two children is
17 years and the average age of Ram’s wife and
the same children is 16 years. If the age of Ram
is 33 years, the age of his wife is (in years) :
(A) 31 (B) 32 (©C) 35 (B) 30

134. A man’s pension on retirement from service is
equal to half the average salary during last
3 years of his service. His salary from 1-1-1983
is T 380 per month with increment of ¥ 40 due
on 1-10-83, 1-10-84 and 1-10-85. If he retires
on 1-1-86, what pension does he draw ?

_(A) T 205 (B) %215

© T 225 D) T 230

135. A person bought 76 cows and sold 20 cows at
15% profit. 40 cows at 19% profit and
remaining 16 cows at 25% profit and got a
profit of T 6570 as a whole. The cost price of

each cow is
(A) T 450 (B) T425
(€) T 420 (D) T 400

136. One side of a square is increased by 30%. To
maintain the same area, the other side will have
to be decreased by
(A) 23

(©) 30%

-

(B) 7613%
D) 15%

m Ram travelled 1200 km by air which formed
(2) of his trip. He travelled one-third of the trip
by car and the rest by train. The distance
(in km) travelled by train was :
(A) 480
(C) 1600

(B) 800
(D) 1800

SPACE FOR ROUGH WORK
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139. If sin (60° - 8) =
of tan (¥ — ) is / are
both positive acute a and

W >30°).
@ F ® 0

©

140. The value of
(1+cot 6 - cosecﬁ)(l-bm@‘ﬁﬁm 6)
is equal to
@1 B2 ©0 -

141, If tan 0 +cot 0 =2, then the value of
an") +cot'd (0°< 0 <%0°, n is an integer)
is
@2 ® 2 ©m @2

142. A pole “stands vertically, inside a scalene
triangular park ABC. If the angle of elevation of
the top of the pole from each corner of the park
is same, then in A ABC, the foot of the pole is

at the |
(A) centroid (B) circumcentre
(C) inc_entrc (D) mhmnm

143. 16 00 - 50 then sing — cost) s equal 1o

(A) x-y (B) x+y
C) ——= D
S .1:2'-1-);2 = x2+y

Eng Hindi Maths 5SSt Science
The above bar graph show the marks obtained
by a swudent in an examination. What is the
average marks obtained by the student ?

(A) 55 (B) 56 (C) 57 (D) 58
145.
- 2w

.30
EEs

of]

3 4 5
Family member

Smdy&sbarmﬂcmﬁallyandmw«rthe
following question.
W!ﬂdanypcoffmnuyusrhemtenmmn?
(A) 2 members (B) 3 members
(C) 4 members (D) 5 members

The Pie Chart shows the expenditure of a country on
various sports during a particular year, Study the
graph and answer the question nos. 146 to 148.

146. If the total amount spent on cricket and hocky

together is Z 80.000, the total amount spent on
sports is .
(A) T 1,00,000
(€) T 2.50,000

(B) T 2,00,000
D) T 3.00,000
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145. If the length of each side of a square is
increased by 2 unit, the area is found to be
increased by 20 square unit. The length of a
diagonal of the square is

(A) 242 unit (B) 4 unit
(€) 442 unit (D) 8 unit
- . | 146. A dealer sells his goods 30% above the cost
©) 33t% e , price but ;llnw;: discount of 15% for cash
. [ 08 ‘ payment. Find gain cent.
Study the following graph stion A) 15% Jl’;;r 0%
nos. 149 and 150. (-c) 5% ©) 105%

mayjatﬁﬁmmnmchas Banngets -Lof
what A and B together get. Then € will reccwa

the amount (in T
- (A) 1000 (B) 3000
(C) 5000 D)

148. The average nf&amw‘:_ equal 1o the
average of the reciprocals of the numbers
multiplied by product of the numbers. The
numbers are

~(A) The problem is not solvable
(B) The data are not sufficient
(C) Any two numbers
(D) None of the numbers

149. A retailer buys 40 pens at the marked price of
36 pens from a wholesaler. If he sells these
pens giving a discount of 1%, whatmttn:pfaﬁt
per cent ?

C(A) 9% (B) 10% (C) 10»}% (D) 11%
m qus«u_:perfmmismmmam_f“an

lwdays ‘l‘heywm'ktéwer 20 days and
then ¥ leaves the job. The number of days taken
by X to complete the work is

(A) 50 days (B) 33 days : ; _
(C) 22 days (D) 44 days : m 60 tB) 55 (©) 50 (D) 45

SPACE FOR ROUGH WORK
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Directions : In question
the four alternatives,
expressesthemmius:
in the Answer SM
(A) talkative
(C) vocative
152. Tinsel
(A) tinkle
(C) tin

Directions : In question nos. 154
word opposite in meaning to the gi

it in the Answer Sheet. \
154. Cordial - ;
(A) fast (B) w : E
(C) friendly (D) hostile ?
155, Instinctive paliat
(A) innate ~(B) rational 5
(C) inherent (D) inborn

157. Hard work pays in the long run. *

(A) always
(B) over a period of time
(C) indefinitely
(D) never
158. I felt a fish out of water among the lawyers.
(A) special (B) happy

(C) uncomfortable (D) proud
159. The Cauvery water issue led to apple of disco
between the two Governments.
(A) cause of anger
(B) cause of hatred
(C) cause of quarrel
(D) cause of animosity
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165

160. The construction remains unfinished and the
workers have let the grass grow under their
feet.
(A) grown grass all over the lawn
(B) gone on a luxury tour
(C) delayed doing the work
(D) demanded more benefits

161. The police smelt the rat behind the death of the

girl.

(A) got very much confused

(B) identified the cause of death

(C) suspected that something is fishy

(D) jumped to the conclusion
Directions ,=-In-qwsti@n-ncs..162 to 171, a sentence/
part of the sentence is underlined. Below are given
alternatives to the underlined sentence/part of the
sentence at (A), (B) and (C) which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed, your answer is (D). -

162. The disparity of the GDP between the rich and
has broadened in the last “some

(A) have widened in the last some decades
(B) has widened in the last few decades
(C) have broadened in the last few decades
(D) No improvement

. How, is be;yend ‘ undersmndmg, the boy

ould fall i i
- (A) How the !soy could fall into the ditch is

beyond my understanding.

(B) Beyond my understanding is how the boy
could fall into the ditch
v the boy fall into the ditch is
. d my understanding

(D) No improvement

164. The pioneer spacecraft went beyond Pluto. .
(A) made its way past

(B) went across
(C) went after
(D) No improvement
“The firm buys frozen seafood in bulk, packs it
into smaller pouches and then they sell them to
the local grocery stores.
(A) it sells them
- (B) sell them

(C) they sell the pouches

(D) Noimprovement

by
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166. The learners are intended to.
home.

(A) are meant (B) ares
(C) are expected | - No

167. Fu invention of super:

ble to make Japar

computer technology.
(A) will make Japan
(B) will enable Japan
(C) can make Japan '
(D) Noimprovement

168. 1 could never repay the debt 1 owe to my
place of study.
(A) Alma Mater  (B) Motherland
(€) Place of worship (D) No improvement

169. She cries all the time.
?A} mostly everytime
3) Day in and day out
C) pretty frequently
(D) No improvement
170. For a week last month, the team’s 20 players
were stranded because the Government-issued
passport is not up to international standards.
(A) Government-issued passports were mnot
up to international standards
 (B) Government-issued passports are not up to
international standards
(C) The passports issued by the government
were not up to international standards
(D) No improvement

171, Since July 2008, our customers will be able to
© use the ATM network of BBY Bank, the bank
that was acquired by us during that year.
(A) have been able to use
(B) were using
(C) will have been able to use
(D) No improvement
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at | Directions : In question nos. 172 to 178, out of the

 four alternatives, choose the one which can be substi-
tuted for the given words/sentence and indicate it by

bhelcemng the appropriate oval [@] in the Answer

Sheet.

- 172. One who is unaffected or indifferent 1o joy, pain,

pleasure or grief
©  (A) Tolerant (B) Resigned
| (C) Passive (D) Stoic ;
[
- 173. A person who is greatly respected because of
wisdom
(A) veracious (B) vulnerable
~ (©) venerable (D) verger

174. An excessively morbid desire to steal

(A) stealomania (B) kleptomania .~
(C) clefiomania (D) keptomania
175. Prohibited by law or treaty from being imported
or exported '
(A) contraband (B) smuggled
(C) counterfeit (D) forged
- 176. Intentional destruction of racial groups
(A) regicide (B) genocide
(C) homicide (D) fratricide
177 A person in a vehicle or on horseback escorting
another vehicle
* (A) Navigator (B) Escort
(C) Outrider (D) Security
178. A person specially interested in the study of
coins and medals.
(A) medallist (B) coinist

(C) . numismatist (D) numerist
Directions : In question nos. 179 and 180, there are
four different words out of which one is correctly
-spelt. Find the correctly spelt word and indicate it by
blackening the appropriate oval [@] in the Answer
Sheet.

179. (A) humorous
(C) humorus

(B) humourous
(D) humourus

180. (A) narcisism . (B) narcissism

(C) narcisim (D) narsisism -
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Directions : In question nos. 181
two brief passages with
Read the passages carefully
answer to each question
and mark it by blackening th
the Answer Sheet.
pr G
(Question Nos.
Pidgins are languages
mother tongues and that are uses
of communicative functions, They
mixture of languages and have a li
and a simplified grammar. Pid
of communication between
unintelligible Tanguages and ma;
in multilingual areas. A creo
pidgin when the pidgin becomes
of the community. To cope w
expansion of communicative functions the voca-
bulary is increased and the grammar becomes more
complex. Where a creole and the standard variety of
English coexist, as in the Carribbean, there is a
continuum from the most extreme form of creole to
the form that is closest to the standard language.
Linguists mark off the relative positions on the
creole continuum as the ‘basilect’ (the furthest from
the. standard language), the ‘mesolect’, and the
‘acrolet’. In such situations, most creole
vary their speech along the col
" also competent in the standard English of ﬁ;ﬂn'
country.
181. A pidgin develops in a s:mum ‘when
(A) Different and mutually unintelligible
languages exist side by snde )
(B) A creole becomes the mother fag&e of a
linguistic community
(©) A language with restricted vocabulary
undergoes an expansion in grammar and
vocabulary
(D) Two similar languages are mixed to create
‘a new language

182.
becomes a creole when
(A) It ceases to be a means of communication
(B) It becomes the mother tongue for a new
generation .of speakers
(C) Its vocabulary undergoes some kind- of
change
(D) Two or more languages are mixed with an
existing pidgin
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‘According to the given passage a pidgin

‘Samuel Harris, and myself, and Montmorency. We

~ extraordinary fits of giddiness come over him at’

‘then George said that he had fits of giddiness too; and
“hardly knew what he was doing. With me, it was my

183. According to the passage, a creole continuum is
(A) A linguistic term for the mixture of more

than two languages

A scale’ which measures the linguistic

competence of the speaker

A scale in which the proximity of the
creole to the standard la is

~ measured

A record of the continuous history of a
creole

(B)

(O

(D)

184. According to the passage ‘basilect” means
(A) An impure form of a creole
(B) A form of creole which is furthest from the
standard language
A form of creole which has an extended
vocaba[aq
A fgtmgfmtc which is very close to the
standard language
185. Find qutawmgig the passage which is opposite
in meaning to the word — ‘Simplified’

(©)
(D)

(A) Complex (B) Expansion
(€) Restricted (D) Consequent
2 gﬂsmsn ]

(Question Nos. 186 to 190)
There were four of us — George, and William

were sitting in my room, smoking and talking about
how bad we were — bad from a medical point of view
1 mean, of course.

We were all feeling seedy, mﬁ ‘Wwe were getting
quite nervous about it. Harris said he felt such

ﬁmes that he hardly knew what he was doing; and

liver that was out of order. T knew it was my liver that
was out of order, because I had just been reading a’
patent c;—pxll circular, in which were detailed
the vari 'mptoms by which a man could tell when
his liver was out of order. I had them all.

It is a most extraordinary thing, but I never read
a patent medicine advertisement without being
impelled to the conclusion that | am suffering from the
particular disease therein dealt with in its most
virulent form. The diagnosis seems in every case to
correspond exactly with all the sensations that I have
ever felt.
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186. The four felt down and out
(A) the room was oo smok;
(B) they could never read
advertisement
(C)  they thought they we
(D) they had experienced a-
thing
187. Whenever the speaker ‘
(A) he suffered from an e
_ giddiness 5
(B) he felt sure that he had a |
(C) he felt the urge to smoke 3
(D) All of the above e
188. ‘The author of the above passage e seems to be
(A) fits of morbid depression without real
~(B) an abnormal anxiety about his health
(C) melancholia

pessimistic attitude to life
189. Harris was troubled by
(A) asymptom of vettigo
(B) garrulity
% tribulation
) frailty

~virulent is :
(A) fantastic (B) vital
(C) viral (D) hostile
Directions : In question nos. 191 to 195, some parts of
the sentences have errors and some have none.
Find out which part of ‘a sentence has an error
and blacken the oval [®] corresponding to the
appropriate letter (A, B, C). If a sentence is free from
" error, blacken the oval corresponding to (D) in the

191, Iwhistled thrice

(D) an unnecessarily dark, gloomy  and

190. The word which is closest in meaning to

| 193, Atcertain seasons, some areas on Mars
(A) (B)
is subject to strong winds. No error.
© (D)
194, Asanartist  Raju is as good,
(A) (B)
if not better than Ramesh. No error.
(©) (D)

195, The scientists could not hardly
T ®)
complete all the experiments. No error.
(© (D)
Directions : In question nos. 196 to 200, sentences
are given with blanks to be filled in with an appro-
priate. word(s). Four alternatives are suggested for
each question. Choose the correct alternative out of
the four and indicate it by blackening the appropriate

| oval [@®] in the Answer Sheet.
| 196. Google is one of the most popular search

engines, itis by the internet users.
(A) utilized (B) effected

(C) examined (D) flabbergasted
197. Raj was tired of Puja’s approach, so
he asked her to make her final decision by that

evening, _ i :
(A) silly-willy (B) dilly-dally
(C) wasting (D) dilly-nally

198. Riais _____ at speaking languages. It is
difficult to only one puppy for
animal shelter.

(A) adept, adapt (B) adapt, adapt
(C) adept, adopt (D) adapt, adopt
199. School days are considered to be the best
years of your life. When my year
in school began, I began to think of those past
enjoyable days and of my future also.
- (A) penultimate (B) absolute
(C) integral (D) termination
200. Being » the judge gave a favourable

(A)
with full might and raise my arms
(B)-

towards the sky.  No'error.
r (©) (D)
192, Science and !‘e[lglOﬂ

(A) ]
are both necessary for man and for their
Bl
outer and inner self respectively.  No error,
@y - (D)
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verdict.
(A) sagacious (B) pugnacious
(©) malicious (D) tenacious
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